REHRT SHEGSBLUL AE18FE, Fo2LFEH LG
EHOEHNT, SRMEEESERE1HELTHLELTVS, REE
HISHERAOBEEREH LLTLS,

@ WhEEADDER

ElEOFHELR

BSLEE I

A ‘,g’ 2 & 90.0
N 8
/] % & 60.0
A A '
ar @ | o
BREE /& 300
5 (AN 00 0-00/
) ' H17 H22 H27 R2 on
A ESEgMEAL| 589 66.9 76.3 81.6
HEknkE 20.5% 23.4% 26.6% 28.9%

X AO FF181BRE(FRITERVER2EFRTEIARRE) DEREXRSIRAD (EERHT—LR—DLY),

O BEIVEMOKER

5,000 100
BEH % 3
BB £ 4000 | 180 &
52E # 4
M %% 3000 r 1 60 (A
(N () 5000 | 1 40
1,000 1 20
0 : g g p : 5 . - . O
H23 H24 H25 H26 H27 H28 H29 H30 RIT R2
= 4148 | 4134 | 4099 | 3791 3624 | 3,187 | 2981 2,711 2,154 1,668
EEasEN 2907 | 2,868 | 2800 | 2535 | 2287 | 2056 | 1877 | 1587 | 1228 889
OB HEER 520 558 573 554 501 456 455 387 350 257
——EEH 58 64 67 64 46 47 49 54 46 36
SN EBAE | 513% | 512% | 57.8% | 547% | 484% | 54.7% | 538% | 58.7% | 61.3% | 50.7%

O KRR ERR(EM25EH)

350
8 % 54
B =«
250
gk 200
" B 150
(AN) ()
# 100
50
0
441 15 12 28 | 122 | 222 | 318 | 242 | 229 | 259 | 153 | 48 | 20 |1,668
EaEES 6 3 14 | 63 | 122 | 185 | 139 | 122 | 127 | 76 | 22 | 10 | 889
——EEH 0 3 1 5 2 3 1 2 5 9 3 2 36

0 REHRERR(GH2EH)
1,500

1,200 |

a8 %
B &
5 & i
I 600

(N) () 300 I

0

900 |

=3

315

199

EHAGEY

158

98

—REH

25

X RE-EEERH,




0 LEEURLERR sH2%&

LEET
k o &é} ot | &
x5 | pEE | oEE | —RE | mEe | @R
1“4 152 102 91 1,323 0 0 1,668
FEH | 20 4 2 6 4 0 36
agEs | 209 148 96 331 101 4 889
87% | 26% | 20% | 18% | 38% | 00% | 3.9%

KRB HEEHOGEE, B18FE0OLEE]
O RMEICHHATEEDOHE (BOFHEDLE)

0.0% 1.0% 2.0% 3.0% 4.0% 5.0% 6.0% 7.0% 8.0% 9.0% 10.0%

=L ‘ ‘
- ISEFDHIS1 2.6%(4.152)

HoE R . r?l:'é'd)ilﬁ'] 0.8%(6.7793)

H1T7H
E wEE FEEDEE] 8.7%(20.7229)
o DHE|E1 1.9%(8.7418)
@ TRHETRISERR (%)
1.668 / ERT #E DR
36 8 'i LB .. TRET
) e 1 REE .. BEA(H)
s 07 7 FRAT TE .. EEH(A
T j‘jzﬁm 18 5 = N
6 gm0
@zxmir 0 1 AT g9 {
/2 13 1 #@Ws
-0 maw wmsm . T 331 )
Y 664 88 == 61 9™l e
wamm 5, wa=m 4 wEm 3 2o L BT, B8
‘ ey 18 9 _ins A7 e !
N\ 73,& 2 [89 0. - gﬁif‘).\; RiEILR
4 Ja T 1 e T TN N
K R )LLI__E,JE BT _alfe N e 81
(g4 EEEW] =TT eEr BEERE . f
P L e S 16 — 1
1728 o 0 -
r REER
AR 123
52 173 Z=K
‘0 . %7 n‘g;ﬁlﬂr 40
' 2 mm o mEE
y 90 314 FEEPHT
mlz/ 0 s 105

— 11 — 0 "0



